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Psy 511. Problem Set #1.

1. In a certain federal prison it is known that 2/3 of inmates are under
25 years of age. It is also known that 3/5 of the inmates are male and

that 5/8 are female or 25 years of age or older. What is the probability
" that a prisoner si&lected at random from this prison

a) is female and at least 25 jgars old?
b) is female if at least 25 years old?

2. Hays #18 pp. 59-60.

3. Glven that (a) 10% of women attend college, (b) 80% of collegs
women smoke pot, but (c) only 50% of all women smoke pot. Supposs a
woman Is sefected at random from the popuiation and is observed to be
smoking pot. What Is the probability that she Is a college woman?

4. Three archers A, B, and C each shoot one arrow at a target. The
probablilities of hitting the target are:

P(A hits) = 0.5
P(B hits) = 0.25
P{C hits) = 0.75

Determine the probablility for each of the following outcomes:

A. A and B both hit the target

B. A and B both miss the target

C. Aor Bwlli hit the target

D. All three will miss the. target
E. Aor Bor Cwill hit the target

5. Hays #22 pp. 60-61.



